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7:B*>,\$]Answer:	
  yes,	
  an	
  everyday	
  example	
  of	
  
this	
  is	
  wind#^$
L+G$+,?)*(,+$,7$)*+>".:*$,;*$<7">*+$:*.(/$
*F*",*)$.($,;*$)*C7(+,"-,.7(#$]Answer:	
  the	
  
balloon	
  is	
  squeezing	
  air	
  out	
  of	
  itself,	
  pushing	
  
it	
  up	
  (or	
  down,	
  for	
  the	
  hovercraft)	
  against	
  the	
  
blades	
  of	
  the	
  helicopter	
  causing	
  them	
  to	
  turn	
  
because	
  they	
  are	
  angled	
  (against	
  the	
  floor,	
  
causing	
  it	
  to	
  lift	
  up	
  and	
  glide).^$
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the	
  force	
  of	
  one’s	
  hand	
  or	
  by	
  pulling	
  the	
  
string.^$
&A+$,;.+$<7">*$-$=?+;$7"$-$=?88\$]Answer:	
  by	
  
hand	
  it’s	
  a	
  push,	
  by	
  string	
  it’s	
  a	
  pull#^$
&Y;3$)7$37?$,;.(G$,;*$,7=$+879+$)79($-()$
<-88+\$]Answer:	
  it	
  loses	
  energy#^$
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]Answer:	
  friction	
  with	
  the	
  ground,	
  maybe	
  
some	
  air	
  resistance	
  if	
  it’s	
  windy.^$
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-+$9*88\$Y;3$)7$37?$,;.(G$,;-,$.+\$]Answer:	
  if	
  
your	
  hand/string	
  was	
  pulled	
  in	
  a	
  certain	
  
direction,	
  the	
  top	
  might	
  have	
  felt	
  some	
  of	
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that	
  force	
  as	
  well.	
  Some	
  grooves/etches/etc.	
  
in	
  the	
  table	
  would	
  affect	
  its	
  motion	
  as	
  well.^$


